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Item # Rationale
1 Option B is correct Sentence 8 repeats the information that is presented in sentence 7 about how theories change over time
Option A is incorrect Sentence 7 should not be deleted because it introduces the paragraph and the idea that theories change.

Option C is incorrect
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Option J is correct

This sentence combines the information in sentences 10 and 11 about the mammoths
in the ravine in an effective and concise manner.

Opresumed struggle

Option F is incorrect

Implying that the mammoths would have survived incorrectly changes the meaning in thi

S sentence.
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Option C is correct

Placing the sentence after sentence 23 makes a logical connection to the effects of the change in
temperature mentioned in sentence 23.

Option A is incorrect

The flow of information about the tooth marks and holes on the bones would b e disrupted if the sentence

followed sentence 20.

Option B is incorrect

The logical progression between sentences 22 and 23 would be interrupted by putting the sentence after

sentence 22.

Option D is incorrect

Placing the sentence after sentence 24 does not create a logical ending to the paragraph.
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Option Jis correct

Replacing Qhem Owith (Baylor students and scientists ~ Oclearly identifies whois ~ Gxcavating bones and

conducting soil tests. O

Option F is incorrect

Woolly mammoths would not be Gexcavating bones.  OThe scientists are excavating the mammoths

Gbones.

Option G is incorrect

It is unlikely that other tourists would be allowed to excavate bones or perform soil tests.

Option H is incorrect

Teenagers would not be allowed to excavate bones or perform soil tests.
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Option H is correct

Combining the sentences in this way creates a concise and effective sentence.

Option F is incorrect

This sentence combination creates one awkward sentence and changes the meaning by implying that the
language was already simple.

Option G is incorrect

This combination creates both a run- on (two main clauses joined incorrectly) and an awkward sentence.

Option J is incorrect

Wordiness and awkward phrasing make this sentence ineffective and the meaning unclear.
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Option B is correct

The word @QoodO is vague, and so replacing the word with (positive, Owhich is connected to

(hope, Omakes the meaning clearer and more accurate.

Gnspiring Oand

Option A is incorrect

The word QGharming Ois ineffective because it does not convey the correct connotation.

Option C is incorrect

Replacing QyoodO with hecessaryO is ineffective because it does not follow logically from

ope. O

Onspiring Oand

Option D is incorrect

The word Cappropriate  Odoes not fit with the idea of Onspiring others with hope.

o
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Option F is correct

Changing CClassified Oto Qrlassified Ocorrects the capitalization error, since there is no need to capitalize
this word.

Option G is incorrect

Removing the comma would create an error in punctuation. This phrase must be set off by a comma
because it is a nonessential participial phrase that modifies Geelenite crystals. O

Option H is incorrect

Changing Qranslucentd to QransluscentO would introduce a misspelled word in the sentence.

Option J is incorrect

If there is no change in the sentence, the capitalization error would remain.
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Option C is correct

Changing Qektonic Oto Qectonic Ocorrects the misspelled word in the sentence.

Option A is incorrect

Removing the comma would create an error in punctuation since this phrase is an appositive, which
renames the noun next to it.

Option B is incorrect

Changing reakO to (hrakeO would introduce an error because it is the wrong word.

Option D is incorrect

The verb should remain in the past tense because the shift has already occurred.
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Option J is correct

The author @ tone is reflective, reflecting on how, over time, his attitude toward writing in longhand has
changed, and explaining how his best ideas are often those that come from Galmost anywhere but in front
of a screen O(paragraph 3).

Option F is incorrect

The tone is not playful but more reflective as the author thinks about how devices affect work.

Option G is incorrect

There is no evidence of sarcasm or making fun of something N the author is describing how his creative
process has changed over time to include such activities as writing in longhand.

Option H is incorrect

The author does not show any regret regarding the decision to write in longhand at times.
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Option G is correct

The author describes the computer tools as O multi -tentacled Obecause he recognizes how much his
computer addiction is reaching other areas of his life besides work.

Option F is incorrect

The author @ use of the term  Qnulti -tentacled Ois not meantas apo  sitive reference to multitasking; rather,
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Option G is correct

A metaphor is a figure of speech that makes a comparison between two unrelated things that share
common characteristics. The author uses the metaphor QGhrown that train into reverse
emphasize how (n)2 0 Td (7i)-1 (efw (n)f-3 (on)-1 (c-1 (r) )]TI 1)-3 (hi)]TJ thi

Oin paragraph 9

to
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Option H is correct

explanation (t® a question ofand, Ohe said. Ot not a question of or

Coexist means that paper and digital calendars are (Qpresent at the same time. Oln paragraph 7, the

Oshows that both paper and digital
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Option C is correct

The quotation from paragraph 5 supports the main idea of the article by listing several factors that

contribute to the popularity of paper planners, including the ability to customize them to an individual Q
particular taste using accessories, colors, and color -coding.
Option A is incorrect Although it is mentioned in the article that the sales of paper calendars are variable, that is n ot a part of

the quotation in paragraph 5.

Option B is incorrect

In paragraph 5, the purchase of a particular type of planner is not supported. Individual customization is
focused on instead.

Option D is incorrect

The quotation mentions only planners, not calendars.
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Option J is correct

These sentences offer the best and most concise summary by including all the key ideas of the article.

Option F is incorrect

This summary contains the extraneous information that most people hang calendars in the kitchen. This is
not a key idea of the article.

Option G is incorrect

The information comparing printed books to e -books is not a key idea that needs to be in a summary of
the article.

Option H is incorrect

This summary places too much focus on the annoyance of the electronic beeps and alerts of digital
calendars.
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30 Option J is correct The use of ounterintuitve O
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Option B is correct

This conclusion is correct. Having the name of the company providing the promotional calendars in sight
will keep that company in the mind of consumers.

Option A is incorrect

This is not a correct conclusion. Statistical information comparing the profitability of promotional calendars
and television advertising is not provided.

Option C is incorrect

The statistics to support this conclusion are not presented in paragraphs 14 through 16.

Option D is incorrect
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36 Option G is correct In paragraph 5, the author indicates that the hikers wandered Qwith no particular destination in mind Oso
the meaning of meandered means Qoamed aimlessly.O
Option F is incorrect GBathered Odoes not indicate motion forward but suggests a stopping or paus e in action; the word
meandered means to move about Qwith no particular destination in mind. o

Option H is incorrect

The word meandered does not indicate the frequency of an action; instead, it means moving or wandering

with no destination in mind.

Option J is incorrect

Meandered indicates motion, not stopping.
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41 Option D is correct Paragraphs 6 through 11 illustrate the author @ personal experience with forest bathing and her positive
impression of the process. Chronological order is important to establish the author ® evolving feelings

throughout the experience.

Option A is incorrect

The author ® personal experience of forest bathing is discussed in paragraphs 6 through 11, but these
paragraphs do not elaborate on skills developed from the process.

Option B is incorrect

Although these paragraphs highlight the author @ individual experience of forest bathing, they do not
elaborate on why the process is useful.

Option C is incorrect

These paragraphs discuss the positive experience of forest bathing for one person but do not refer to
reasons why th e process is essential.
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48 Option J is correct When the speaker chooses to Qlose the door on thirty years gone forever Oin line 40 , he indicates that
despite being nostalgic for the past, he is choosing not to revisit those memories.

Option F is incorrect The changes to the shoe store are literal, physical change s made to update the store  over the years.
Option G is incorrect The shoemakerO s success occurred slowly over time and is an observation of the present.
Option H is incorrect This is a simple memory of a person. There is no indication of a yearning to revisit the past.
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Option A is correct

The indentations represent shifts from referring to the past to referring to the present. For example, in line
11 the speaker says,  (Dne thing thathasn ~ ®changed Odescribing how the shoemaker looks in the present.
Before this the speaker describes the sho e repair Onthe old days Oin lines 8 through 10.

Option B is incorrect

The text following the indentations shows that the speaker already knows a lot about the shoemaker @ life.

Option C is incorrect

The indentations do not give any reason behind the speaker @ hesitation to speak.

Option D is incorrect

The speaker does not share opinions about the changes in the store.
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Option J is correct

These lines indicate a change in his prosperity. Thirty years ago, the shoemaker lived above the shoe
store, which is small and somewhat cramped. Lines 27 and 28 indicate he no longer lives in those small
quarters.

Option F is incorrect

Little has changed in the shoe store other than adding some mirrors in lines 3 and 4, which does not show
a real effect of the shoemaker @ efforts.

Option G is incorrect

Lines 12 and 13 discuss the shoemaker @ physical appearance, not his prosperity. He is o more bald
than he was Othirty years ago.

Option H is incorrect

Lines 15 and 16 show the work the shoemaker does rather than describing an effect of his efforts.
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Option C is correct

The mention of the passing of time from the speaker being a young boy to becoming an adult in line 2
indicates reflection.

Option A is incorrect

No regret or  reason for regret is indicated. The speaker simply visits the old shoe store he remembers
from when he was a boy.

Option B is incorrect

The words chosen for these lines do not create a sense of gloom.

Option D is incorrect

The factthatthe  speaker has paused to reflect removes any sense of indifference.
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52 Option H is correct The setting of the shoe store contributes to the theme of the poem because change must happen for the
shoe store to survive and prosper.

Option Fis incorrect Confidence is not present in the speaker; in fact, within the shoe store, the speaker is hesitant.
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